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26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

A1 [FEEG) e 400 70[ 28,000 26| 10,400 44 17,600
11828  |[S=kXEb B 200 67| 13,400 41| 8,200 26/ 5,200
b ERTE B 200 18] 3,600 18] 3,600 0 0

Abvo S 200 15 3,000 8| 1,600 7] 1,400
Z0va1)—0.6)| FE 200 31| 6,200 0 31| 6,200

11A6H |FikfaEs (A3 200 19| 3,800 7| 1,400 12| 2,400
kb B 200 48[ 9,600 14|  2.800 34| 6,800

hERTE B 200 14] 2,800 0 14| 2,800

HYr(E R 150 20[ 3,000 17| 2,550 3 450

FTHAE IR 400 32| 12,800 26 10,400 6| 2,400
J0Ovyal)—0.6)| FHE 200 23| 4,600 20[ 4,000 3 600

A7  |HikfEs (A3 200 6| 1,200 5/ 1,000 1 200
Abvo f£= 200 12| 2400 7| 1,400 5/ 1,000

FEF(1.5) et} 500 83| 41,500 46| 23,000 37| 18,500

11A8H |#HtkfaE& (A3 200 1 200 0 1 200
1MA9H |FikfaEs (A3 200 4 800 1 200 3 600
Nl Fx 200 16/ 3,200 0 16/ 3,200

hERTE B 200 13| 2,600 0 13| 2,600

Abvo (A3 200 13| 2,600 3 600 10 2,000

11A108 |FikfaEE (A3 200 3 600 2 400 1 200
Abvo f£= 200 4 800 2 400 2 400
Z0ova1)—0.6)| FE 200| 129| 25,5800 55| 11,000 74| 14,800

[EES6:I) el 400 44| 17,600 20| 8,000 24| 9,600

#H(2) e e 400 40| 16,000 23] 9,200 17| 6,800

E#(2) S 600 40| 24,000 25| 15,000 15/ 9,000

11A138 |Fikfaas (A3 200 6| 1,200 2 400 4 800
S=hbk B 200| 106] 21,200 64| 12,5800 42 8,400

hERTE B 200 12| 2,400 12| 2,400 0 0

Abvo f£= 200 10 2,000 3 600 7| 1,400

FHAE IR 400 46| 18,400 18] 7,200 28 11,200

HE(2) S 400 70( 28,000 26| 10,400 44| 17,600

118148 |[E—<> R 100 18] 1,800 15| 1,500 3 300




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

b =) (A3 200 2 400 2 400 0 0

Abvo (A3 200 3 600 3 600 0 0
J0Ovyal)—(0.75 B 150 79| 11,850 28| 4,200 51 7,650

E#©2) el 600 72| 43,200 33| 19,800 39| 23,400

11A168 |FikfaEE (A3 200 2 400 0 2 400
Nl s Fx 200 16/ 3,200 0 16/ 3,200

hERTH Fx 200 4 800 0 4 800

Abvo f£= 200 7| 1,400 0 7| 1,400

MA178 |FikfaEE (A3 200 3 600 3 600 0 0
FECAD AR 250 30[ 7,500 24| 6,000 6| 1,500

HiX AR 250 27| 6,750 21| 5,250 6] 1,500

~HELE AR 300 65/ 19,500 24| 7,200 41 12,300

Abvy (A3 200 19| 3,800 9] 1,800 10 2,000

AFCGAD AR 300 31 9,300 31 9,300 0 0
Joyal)—0.75 FHE 150 63|  9.450 25 3,750 38] 5,700

HHA B 200 90[ 18,000 40[ 8,000 50[ 10,000

118208 [S=hXb B 200 74| 14,800 53| 10,600 21] 4,200
Abvy f£= 200 9] 1,800 0 9] 1,800

1MA218 |HikfEas (A3 200 10| 2,000 8] 1,600 2 400
~HELE AR 300] 119] 35,700 52| 15,600 67/ 20,100
JOval)—(0.75 FHE 150 67| 10,050 33[ 4,950 34| 5,100

11H228 [#H#%AEE EE 200 2 400 2 400 0 0
Abvo = 200 17 3,400 8| 1,600 9] 1,800

11H248 [#H#kAEE (A= 200 6] 1,200 2 400 4 800
Abvo = 200 23| 4,600 11 2,200 12 2,400

FTHAE R 400 71| 28,400 34| 13,600 37/ 14,800
Joval)—0.75 FHE 150 75 11,250 21| 3,150 54 8,100

E#(2) el 600 88| 52,800 30| 18,000 58| 34,800

118278 [S=bkXb B 200 88| 17,600 40[ 8,000 48[ 9,600
11H28H |AR¥ Fx 200 50| 10,000 22| 4,400 28| 5,600
Abvy (A3 200 11] 2,200 1 200 10/ 2,000

EH i 200 42| 8400 19| 3,800 23| 4,600
Joval)—(0.75 FE 150 63|  9.450 27| 4,050 36| 5,400




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH &h MEESR| Eif 2| 2% | = | 2% | K= | €% &%
H== e e 300 43| 12,900 19 5,700 24| 7,200
118298 [RbyS = 200 6| 1,200 5/ 1,000 1 200
&t 670,000 316,600 353,400




